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Part 1 (B 5 60 )

Read the article below and answer the questions that follow.

FEVEMECRAE DT O RIESUIEM L TH Y £

Source:

Mainichi Japan (2022, April 9). SpaceX launches 3 visitors to space station for $55M each. The
Mainichi. https://mainichi.jp/english/articles/20220409/p2g/00m/0sc/004000¢c






According to the article, when did a Japanese fashion tycoon visit the International Space
(1) Station?

(A) after the American, Canadian, and Israeli businessmen arrived

(B) after NASA joined Russia in hosting tourists

(C) after SpaceX's first private charter flight to the International Space Station
(D) after a Russian movie crew visited

(E) ten days after reaching orbit

(2) | According to the article, in addition to transportation what does the $55 million ticket include?

(A) accommodations, meals, and unlimited access to the International Space Station
(B) accommodations, meals, and limited access to the International Space Station
(C) accommodations and meals only

(D) accommodations only

(E) none of the above

According to the article, how can visitors gain access to the Russian portion of the
International Space Station?

©)

(A) by spending seven months at the International Space Station
(B) by acquiring permission from the three cosmonauts on board
(C) by avoiding talking about politics

(D) by asking the former NASA astronaut

(E) by showing the spirit of collaboration

(4) | According to the article, were the visitors informed of the risks of spaceflight?

(A) No, because spaceflight is without risk.

(B) No, because the visitors did not want to know about the risks.

(C) Yes, the visitors were told about the risks before going to space 15 years ago.
(D) Yes, because SpaceX and NASA have been honest about the risks.

(E) Yes, because NASA's Kathy Lueders is an expert on space safety.



(5) | According to the article, why do the visitors dislike to be called space tourists?

(A) because they conduct experiments

(B) because they are not on Earth

(C) because they work for Russia

(D) because they do not purchase souvenirs
(E) because they work for SpaceX

At the time that the article was written, how many times had SpaceX flown NASA astronauts
to the International Space Station?

(6)

(A) two
(B) three
(C) four
(D) five
(E) six



Part 2 (B 40 /5)

If it were possible, would you like to fly to the International Space Station? Explain your answer in as
much detail as possible. Write about 100 words in English.
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